EQUATIONS, INEQUALITIES AND
SYSTEMS TEST - 4° £SO

Exercise 1: (1 point) Find the dimensions of a rectangle if its perimeter has a length of 84 mand its area
measures 437 m?

The rectangle has a length of 19 m and a width of 23 m, or the other way round

Exercise 2: (2.5 points) Solve:

xy =30 x=10:: y=3
a) 5 - o - B (1.5)
x =Ty =37 x=-10; y=-3
x—-y=8 x=1, y=-7
b) , 2 T 5 (1)
x +3y° =148 x=3k: y=3
Exercise 3: (2 points) Solve the following equations:
a) x+4/5x-1=5 = x=2 (0.75)
b) J4x—4—+fx-1=2 — x=5 (1.25)
Exercise 4: (0.75 points) Find the points where f(x)<0:
N | | x €(—00,—-1)U(-14)
Exercise 5: (3.75 points) Solve the following inequalities and systems:
X =5x<0 7
a) —>» XE 0,— (1.25)
2(x+3)-4(3-x)=1+x 5
1-x* <0 .
b) - xe(—o,-1]U[L2)u(2,+x) (1.5)
x —4x+4>0
o) (x—-3)°-5(1-x)23x-2 - xeR (1)
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